Btsigecp 1 103.1.14
GCC
ARG RER €
] »I’ ~ 2 21 %
102 ‘& & 12 { \\‘P N \\“bv
mARIRIFRR R L K € 102# 1279 1p 2 31p Jc g it £
.,&fb%"‘-ﬁ 2 -*x?- %g ég%
HTHASSE | ASHART UL |Fremze i B . . N SFRat 2
. UV weBRE | s | e EME | SefthsEZE | = | & n
& 46 4F
1024F .
e ZE 238 84 322 83 6 3 1 9.68% 93 229
BRI ZE 141 57 198 45 0 1 0 2.17% 46 152
12.01%
H A 224 96 37 133 25 4 1 2 15.63% 32 101
2 (o)
12.31) i 475 178 653 153 10 5 3 8.77% 171 482
ICERAE RN Z EETE H - EfESFREN 2 A O - MsEEIEE - SiESTEE AR ; RS | JFZEEESE -
IR A TN Z BB RAAR LS = o+ - DA B ZE RIS = I &S = Ry oo B TR > -
e FERAESE > HA ZE B FEp B a0 - BT AEEEESE - /KR ~ AUl - B EREY - TN - P e RS E A AR A AR ZE A -

LB RGERIE NS T EAME  (RdE T E o BLE] ~ B ) 2= -
pAG ik
=l e DfFEsEHE &at
PR 0 1 0 1
EF 0 0 0 0
At 1 0 1 2
= 1 1 1 3




102# 12% 1p %

3lp & it

et % it &

RSN | ks | Aot | e i S
El e = AT Tf i< N - \E2 o [ = 2 &N
Eallalt 5.3 - TV aeE | Bes |eHEMrE | aomsES | SRey= = nEE
1024 ( sy 105 47 152 49 4 0 1 7.41% 54 98
g 80 26 106 19 1 2 0 13.64% 22 84
BE 1k 17 4 21 3 0 0 0 0.00% 3 18
12.01%
HpeE 35 7 42 11 1 ] 0 15.38% 13 29
Yo HA 1 0 1 1 0 0 0 0.00% 1 0
P
12.31) o 238 84 322 83 6 3 1 9.68% 93 229
ORGSR T BEIE E o RTINS ESE - EAE RIS T EIE  BREEY | ZME MrsIEE o SIETTEE ARIE ; RS PRI -

PAGEE S

T FEAEIE . AR HAIE H (R FEBRPE AT -
st ¢ I L (FRE R MR R o H U BeaE I 52 > i1 02 P s M AT U R A B BE IE Ry 724F o

FGR - BEAL -

AR
fE] 7 PrEFEITE =Ei
sEAT 0 1 0 1
SR 0 0 0 0
JEE Ik 0 0 0 0
SFPRE 0 0 0 0
o HAih 0 0 0 0
=5 0 1 0 1

GE SR T Z SRR LB M R oy T > DUBKIBIZE RIS S I S5 ZE 2= B B TR -
FEEBEFLISNZ AR TEZE - RS RS X

BECE AR -




102# 1235 01p 2 31p & 1% e % 33t

iR (R S HAGR et

22 I 7 W 7371 T‘[‘ ZIN i N P \r o~ S =

* ¢ - T B | Y AR | Yot | AR | &3 o
oies € FHEE 35 17 52 12 0 0 0 0.00% 12 40
ez 0 0 0 0 0 0 0 0.00% 0 0

12.01% BEE 86 36 122 19 0 1 0 5.00% 20 102
A@=KiilA 20 4 24 14 0 0 0 0.00% 14 10

AN
12.31) & 141 57 198 45 0 1 0 2.17% 46 152

YRR T ZBIEIEE - ST 2B RIS - HAMOSASE T A B - BN ) R MAETHE o BESTEARIE e G -
Yo kR T Z BRI R Roor T > MLARE R A IIREA Rt sE = A R BT R 2 -
Ve RS B AT H AFERREA RS - 525k - BRLUNARISEAETRZE - WFHESE - HE A ESETRE -

PAQIASES
el BeE HEFHE| &3
HEH 0 0 0 0
FE 0 0 0 0
B 0 0 0 0
Yo EAth 0 0 0 0
=K 0 0 0 0




102# 127 01p 2 31p H

A SR X ST )

i I T e e R R T At e P
H HA < == — — o T ZEZE
i L. " - SEE | Y | [AohsssE | Aoy | &t o
oz ss | o5 5 B 0 0 0 0 0 0 0 0.00% 0 0
PSR 9 2 11 5 0 0 0 0.00% 5 6
Y A B 15 3 18 5 0 0 0 0.00% 5 13
Rk 1 0 1 0 0 0 0 0.00% 0 1
IRFE 3 3 6 1 1 0 0 50.00% 2 4
12.01%
INEE 8 8 16 1 1 0 1 33.33% 3 13
EAEMREE 2 0 2 0 0] 0 0 0.00% 0 2
BT IREE 2 17 8 25 5 1 1 (0] 28.57% 7 18
Y ELfth =R 41 13 54 8 1 0 1 10.00% 10 44
L=
12.31) St 96 37 133 25 4 1 2 15.63% 32 101

LB RRES IR HT 2 B ETE E - ISR S R B[S - HAME RS T ED o ERIE] - SRS 0 ZFEMF  fiNEETEE  EIEITEEARIE] - REEEE  fFEEEREAE o
SO RS M Z S SRR LRSS S R R 5T - M AR B SE AR Ze R It 4SS e (- Ry o BEs T L > -
I FEAREIH = At S R EfE OB E R - S aERAY ~ TR S E B SR 2 -

PAIUATE S

&
I

“E

ProEsFss

o
(i1
¥

[ERf5 B 5

0

REEE T

o i i

BRSEA

ZKFE

NEDE

EAEE

B EREE

pAS I NR

&t
=

—~|OC|lo|lo|~|olo|lo|o|c

(e} [} (o] o} [o} (o} o} [} o) [e]

= [ (el o} [o} (o} o) [} o)

SR el [o) Il ol ol o) (o) fe)




102 & 12 % 23]

I EBE C AT IECEWTESPEE D 3

L S5E S S s b e (- ==
FLI1Fa2E (@) O
FE [ O Q
F= o o
B [ o) o
S 1 1
== 1 1

Tz 85T =5 1 00.00% 1 00.00

===z FH T S ST e TS e = 7 7 I

TaEYF= T e B D5 2R BSe T 7 IS TR EeY JEE Ui

Y= S5 ez S FrE A S

- 7 &8 2y SO b A (-

)
_Lﬁ

O (@)
O o
O (@)
3 3
O O
E =12 (@) O
P 1 1
sBE=] 1 1
= =1 A

P B =5 25.00%% 25.00%

| DS  C Fri ST ST eer bt D 25.00%% 25.00%%

SET- We Flo] e S5 By i) S

RSk ey ES N Sl == AEE =t

AL A2 1 (@) O 1
Ej=wd =1 O O O (@)
i~ u=i| 11 7 IS >4
i CAHOFEE R TSP+ (©] 1 (©] 1
e O3 == B fazg A~ |x] > o 1 3
: =11 —2> =) 1 L —
=t 14 = 7 29

FEZ BT =5= 14.292% 12.50%2 14.292 13.79%

| PN SEs C FIO S ST eEr it D 14.29%% 0.00%% 14.29%% 10.34%

1=

W YO 7 TESZ S5 Bow Sl S5

T EREELE T ESEDSE | FE S EY EE S A S AR P RS S 33 S 1 TE RN = S S r e BEs EE ARt R T eSS PSS S5

e AL EEC ] B A7, &858 v > IS, =t
o === = § (@) (@] (@] o
il =1 =3 s S 13
FE 5 O O O O
JFE e e = 2 I O 1 =3 =
i 2 (S o 17
LS =5 O. 00 O. 00 0. 00 O. 00




102 4 12 ¥ Jo ~ B % 1t

BIIisE %

B E Bk
AR
¥k

A F] i

w8 ik

E AR
TFHERFE
HuF4
Hiub £ B3t

HEEEEEMS

EHFH 174
HEH R 04
EFLELS 364+
EHHE 444
EHE R 5T4F

0%
24+
31
0%
34
8k
0%
81

134
3714
HEM 0z nmSiEE ~ LR~ TR

29. 82%
0. 00%
63. 16%
7.02%

. 00%

41%
11%
00%

S 11%
. 62%
. 06%
. 62%
35.

14%

BRI E SR E A CI02F12A K E4TE

HabF M4
20. 79%

A EMH
32. 02%

MR R
47. 19%

AR AT
AL
BRI A
[REEE A

FARE £t 844
EF|E B 5T
HiubgE Bt 37#
L% 1784

4744 595.95%
264 30. 95%
444 4.76%
TH 8.33%
04 0.00%
=t 84144+




A ERD
Hib EHs
-

EibEihss
A g R

250
Atk
14
2

3244

T8.13%
12.50%
3. 13%
6. 25%

H b4 0 R E ~ 5Bk
i HEHOEEEETER L
EHBR - ITmESCHEYENS

EAERE
A EHE
bR

B E i

451
0%
14
0%

97.83%
0.00%
2.17%
0.00%

P

[

IR ERERT A CIN2FI2A LR &TH

L s
19. 54%

EHEHS
35. 63%

BARR At
FAIE Rt
He R R+t
43t
BARES
44. 83%
BRERD 8
AR F A
R A EA
AR ELE
BRE R 9

9344

4614

3214

17144
3¢ 89.25%
64  6.45%
3t 3.23%
14 1.08%
34




